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If f(x)=5x+2 and
g(x) = x> —3x —1, find

(g — ).

Ox2+2x+3

Ox2+2x+1
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If f(x) =3xand g(x) =-2x+1, «@gx)=-2x+13f(x)=3x g}

find g[f(3)]. Gf(3)].22f
O-15 a
O-17 b
O-19 c
O ’
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Find the inverse of the relation

‘[(—8, 6)! (6! _2)! (7! _3)}'

O {(_8! 6)! (6, —2), (71 _3)}
O{(B! _6)1 (_61' 2): (_7! 3)}
O{(ﬁr _B)r (—2, 6)! (_3r 7)}

O{(_E’: 8)1 (2, _6)r (3! _7)}
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'{(_8! 6)! (6! _2)! (7! _3)}
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S
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S
Py
SN
% fx)=2Vx—3-1 O
=
<
Q. foy=-2vx-3-1 O
)
)
<
¢« fE)=2vx+3-1 O
¢ f(x)=-2Vx+3-1 O
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Simplify \/16(x — 3)12.

OPlx - 37

Ot(x-3)°

OtL6|(x - 3)*

Ol -3
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Find the perimeter of the rectangle :
L Jusioial) Jaiaa angl

below.
?_3 8+ /3 ft
S
A
% \/6 ft
N
0
<
™
=
g, 11 ft O
O
3
g (16 +2v6 + 2V3) ft ')
49
S
L
j\g (8V6 +3V2)ft O
o (B+V6++V3)ft ')
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Suppose a litre of milk costs AED 5 3l AED 5 culall i dal<s off (e uat

now. How much would the price Jaras 5g31 9 A el T oS L Call)
become in 9 months with an annual e e g oY €10% (S adal

inflation rate of 109%? to the nearest

hundredths.

OAED 6.00 .a

OAED 5.75 b

OAED 5.50 P

ORED 5.37 d
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Solve the equation \'\x + 1 = 2.
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Write the equation logg 1 = 0 in

exponential form.

O1°=9
Q9 =1
Or=o
Q9 =0

~
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Evaluate the expression 1031&'

4

Oz

04

03
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Solve logs(x? — 10) = logs 15.

O=*

025

Q1o
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Jogs(x? — 10) = logg 15 dalaal) Ja
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Determine which of the following
equations is true?

O log; n* = (log; n)*

Qlog;y®> =5log;y

O logg(x —3) =loggx —logg 3

Qlog, 8k =8log, k
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The amount of energy E in ergs that Cads Al ¢ ML 550 F d8lal) das
an earthquake release is related to M A5y elia 32l bl 5 e JI31 0n
its Richter scale magnitude M by the Aldladl) J33 s J55Y 14

addiul .JogE = 11.8+ 1.5M
Cra Ainaial) dBUaY) diaS alay dlalaall

equation logE = 11.8 + 1.5M. Use

the equation to find the amount of

energy released by the 2004 s L.?""“ 2004 (e Shas s By JB
Sumatran earthquake, which $ Laa i) (ubiia e 8.0 4as

. e B
measured 8. ) on the Richter scale (a2 ‘T’Jﬂ) aligud Gigaal

and led to a tsunami. (To the nearest

integer)
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Write an equivalent logarithmic

function for e3 = x.

Oln3 = x

Qlog3=x

Qlogx=3

Olnx=3
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2x — b%x

a
a—>b
Ox%(a-b)
Ox(a + b)

Ox(a —b)
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a’x — b%x
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Simplify the expression

4x 5

x2+9x-|—18+x+6'

4x+ 5
C(x +3)(x+6)

9x + 15
O(x +3)(x+6)

33x+1)
O(x +3)(x+6)

O 4x + 5
x2+10x + 24

~
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the function

Oy=-2
Ox =2
Ox =4
Ov=1
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Identify the vertical asymptote of
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Ly = -2
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Solve the equation

5 17

y-2'""6
Oy=6
32
Oy=?
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T4
Oyr=28
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Find the 12th term of the

arithmetic sequence —4,2 8,14, ...

where n>1.
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Oso
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Which is the equation for the n'®

term of the geometric sequence

4,12,36,108, ..., where n>17?

1 n—1
Oa, =4(3)
Oa, =30
Oa, =431

Oa, =4(12)"1
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00 If f(x) = x2 and fx) =x% o1y
W)
g g(x) = x—5, find g(x)=x—5
U ,
% (f x g)(x). (fxg)(x) 1
~
S
D) Ox3 — 5x? a
2
)
Q
N 2
i Ox +x—5 b
)
S
4
_§. O x3 — 5x c
v
S
)
<

Ox3 -5 d
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Find the inverse of the function

f(x) = 4x.
Of ' =x-4
Of 'w=>
O fFllx)=x+4
Of '™ =3
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f(x) = 4x
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Solve 8* = 4(. Round to the

nearest hundredth.

Ox= 0.93
Ox=1.77
Ox= 0.56
Ox=5.00
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Find the arithmetic means in the

sequence —4,

O-125

0O-225

O-13.6

00,36

!

18'
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